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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Perform the additioﬁ or subtraction.

1) (3x7 - 3x% + 8x) + (6x7 - Bx% + 7x) 1)
A) 9x7 - 8x4 + 15x B) 9x - 8x7 + 15x4 C) 14x7 - 2x4 + dx D) 16x12

2) (12y + 10) + (14y2 - 6y + 10) 2)
A) 32y6 B) 14y2 + 18y - 20 C) 14y2 + 6y+ 20 D) 14y2 - 6y + 20

3) (3x2 + 2x - 9) - (-6x2 - 8) 3)
A)9x2 +10x -9 B) -3x2 + 10x - 9 Q) -3x2 +2x - 17 D)9x2 +2x -1

4) 2m?2 - 6mn - 9n2) - (7m?2 + 3mn + 5n2) 4)
A) -5m2 - 9mn - 14n2 B) -5m2 - 9mn - 4n2
C) -5m2 - 3mn - 14n2 D) 9m2 - 3mn - 4n2

Find the product.

5) 6x2(2x2 - 4x ~ 1) 5)
A)12x4 - 24x - 6 B) 12x4 - 24x3 - 6x2
C)12x4 - 24x2 - 6 D)y 8xd+2x+5

6y p2q?(6p2q - 6pg?) 6)
A) 6ptq3 - 6p3gt B) 6p4q3 + 6p3qd C) 6p2q - 6p3qt D) 6ptq? - 6p2qt

7) (5 -m)(4 - m} 7}
Aym?2 +9m + 20 B) -m2 - 9m + 20 C)m2 - 9m + 40 D) m2 - 9m +20

8) 2y - 1)(4y +9) 8}
A)6y2 +8 B) 8y2 + 14y - 9 C) 8y2 + 22y - 9 D) 8y2-9

9) (8x - 12y)(3x - 2y) \ 9)
A) 24x2 - 52xy + 24y2 B) 24x2 - 16xy + 24y
C) 24x2 - 36xy + 24y? D) 24x2 - 52xy - 52y2

10) (8x - 1)(x2 - 2x + 1) 10)
A)8x3-15x2 ¢+ 6x -1 B)8x3 +17x2 - 10x + 1
C)8x3-16x2 +8x + 1 D) 8x3 - 172 + 10x - 1
11) (5x2 - 2x + 3){x - 6) 11)

A) 5x3 - 60x2 + 36x - 18 B) 5x3 - 32x2 + 15x + 18

C) 5x3 -32x2 + 15x - 18 D) 5x3 + 32x2 + 15x - 18




Find the requested product.
12) f(x) =x+ 3, g{x)=x2 + 10
Find (f« g)(x).
A)x2 + 13x + 30
C)x3+3x2 + 13x + 30

13)f(x)=x+8, g(x)=x2-10x-4
Find {f « g)(x} and {f - g){(6).
A) (F+ g)(x) = x3 - 10x2 - dx; (f « g)(6) = ~168
B) (f+ g)(x) = x3 = 2x2 - 8dx - 32; (f » g)(6) = ~392
C) (f+ g)(x) = 8x3 + 80x2 - 32x; (f » g}(6) = ~1344
D) (£ + g)(x) = x3 + 18x2 + 84x + 32; (f « g)}(6) =392

Simplify.

14) (-8x6y)(-10x4y2)
A) 80x24y2

15} (-9x)0
A)D

16411
16) 35x10y

A) 7x31y19

17) (10x7y5)?
A) 20x7y5

Z
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z18
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_329
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9718

Find the function value.
20) If f(x) = x2 + 6x - 6, find £(2).

A)4

21) Jf g(x) = 4x2 - 9, find g(-5).

A) 25

B) x3 + 3x2 + 10x + 30
D) x3 +13x2 + 30

C) -18x10y2

C)-9

C) 35xy3

C) 100x14y10

3,18
¢y 1253y
218

210
C)L_Z_,_
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C) 86

D) -80x10y2

D)1

D) 7xy3

D) 10x14y10

3yb
D) - 125)(6 ¥y
Z

16
Xy

D) 18
3z

D) 16

D) 100
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16)
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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.

Solve the problem,
22) The graph of f is sketched in the figure below. 22)
iy Find £(3).
ii) Find a when f(a}=5.
i1} Find a when f(a) = -4,
iv) Find a when f(a) = -5.

LY.

23) A table of values for a quadratic function are listed in the table below. 23)
i} Find £1).
ii) Find x when f(x) = 1.
iii) Find x when {{x} = 5.
iv) Find x when {(x) = 6.

x | £(x)
22 -11
-1} -4
0| 1
1] 4
2| s
3] 4
441
5 | -4
6 [-11




Answer Key
Testname: CHAPTER 7 TEST 2

A
»ncC
3D
HA
5)B
6) A
D
8)B
NA
10D
1mcC
12) B
13) B
14)B
15D
16) D
17y C
18} C
19 A
20) B
21) B
22)i) £3)=-3
i) a=-15
iy a=2
iv} There is no such value.
23)i) f1y=4
iy x=0,4
ifi) x=2
iv) There is no such value.




